
# Crashlytics - Stack trace
# Application: au.com.kayosports
# Platform: android
# Version: 2.1.0 (2010062)
# Issue: d3adad20ff51de24023aacde3c5b5089
# Session: 662C91AF011F00016911CE0AEA27EDC3_DNE_0_v2
# Date: Sat Apr 27 2024 15:50:50 GMT+1000 (Australian Eastern Standard Time)

Fatal Exception: java.lang.NullPointerException: Attempt to invoke virtual method 'void
android.view.View.startAnimation(android.view.animation.Animation)' on a null object reference

at com.adobe.marketing.mobile.services.ui.AEPMessage.dismiss(AEPMessage.java:298)
at

com.adobe.marketing.mobile.services.ui.MessageFragment.lambda$addListeners$0(MessageF
ragment.java:326)

at android.app.Dialog.dispatchKeyEvent(Dialog.java:855)
at com.android.internal.policy.DecorView.dispatchKeyEvent(DecorView.java:485)
at

android.view.ViewRootImpl$ViewPostImeInputStage.processKeyEvent(ViewRootImpl.java:5091
)

at
android.view.ViewRootImpl$ViewPostImeInputStage.onProcess(ViewRootImpl.java:5053)

at android.view.ViewRootImpl$InputStage.deliver(ViewRootImpl.java:4578)
at android.view.ViewRootImpl$InputStage.onDeliverToNext(ViewRootImpl.java:4631)
at android.view.ViewRootImpl$InputStage.forward(ViewRootImpl.java:4597)
at android.view.ViewRootImpl$AsyncInputStage.forward(ViewRootImpl.java:4734)
at android.view.ViewRootImpl$InputStage.apply(ViewRootImpl.java:4605)
at android.view.ViewRootImpl$AsyncInputStage.apply(ViewRootImpl.java:4791)
at android.view.ViewRootImpl$InputStage.deliver(ViewRootImpl.java:4578)
at android.view.ViewRootImpl$InputStage.onDeliverToNext(ViewRootImpl.java:4631)
at android.view.ViewRootImpl$InputStage.forward(ViewRootImpl.java:4597)
at android.view.ViewRootImpl$InputStage.apply(ViewRootImpl.java:4605)
at android.view.ViewRootImpl$InputStage.deliver(ViewRootImpl.java:4578)
at android.view.ViewRootImpl$InputStage.onDeliverToNext(ViewRootImpl.java:4631)
at android.view.ViewRootImpl$InputStage.forward(ViewRootImpl.java:4597)
at android.view.ViewRootImpl$AsyncInputStage.forward(ViewRootImpl.java:4767)
at

android.view.ViewRootImpl$ImeInputStage.onFinishedInputEvent(ViewRootImpl.java:4936)
at

android.view.inputmethod.InputMethodManager$PendingEvent.run(InputMethodManager.java:3
163)

at
android.view.inputmethod.InputMethodManager.invokeFinishedInputEventCallback(InputMethod
Manager.java:2665)



at
android.view.inputmethod.InputMethodManager.finishedInputEvent(InputMethodManager.java:2
656)

at
android.view.inputmethod.InputMethodManager$ImeInputEventSender.onInputEventFinished(In
putMethodManager.java:3140)

at android.view.InputEventSender.dispatchInputEventFinished(InputEventSender.java:141)
at android.os.MessageQueue.nativePollOnce(MessageQueue.java)
at android.os.MessageQueue.next(MessageQueue.java:323)
at android.os.Looper.loop(Looper.java:136)
at android.app.ActivityThread.main(ActivityThread.java:6823)
at java.lang.reflect.Method.invoke(Method.java)
at com.android.internal.os.ZygoteInit$MethodAndArgsCaller.run(ZygoteInit.java:1557)
at com.android.internal.os.ZygoteInit.main(ZygoteInit.java:1445)

pool-4-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:201)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.awaitNanos(AbstractQ
ueuedSynchronizer.java:2077)

at java.util.concurrent.LinkedBlockingQueue.poll(LinkedBlockingQueue.java:438)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1057)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

of.z api.kayosports.com.au:
at com.android.org.conscrypt.NativeCrypto.SSL_read(NativeCrypto.java)
at

com.android.org.conscrypt.OpenSSLSocketImpl$SSLInputStream.read(OpenSSLSocketImpl.ja
va:789)

at okio.InputStreamSource.read(JvmOkio.kt:94)
at okio.AsyncTimeout$source$1.read(AsyncTimeout.kt:125)
at okio.RealBufferedSource.request(RealBufferedSource.kt:206)
at okio.RealBufferedSource.require(RealBufferedSource.kt)
at okhttp3.internal.http2.Http2Reader.nextFrame(Http2Reader.kt:89)
at okhttp3.internal.http2.Http2Connection$ReaderRunnable.invoke(Http2Connection.kt:618)
at okhttp3.internal.http2.Http2Connection$ReaderRunnable.invoke(Http2Connection.kt)
at okhttp3.internal.concurrent.TaskQueue$execute$1.runOnce(TaskQueue.kt)
at okhttp3.internal.concurrent.TaskRunner.runTask(TaskRunner.kt:116)
at okhttp3.internal.concurrent.TaskRunner.access$runTask(TaskRunner.kt)



at okhttp3.internal.concurrent.TaskRunner$runnable$1.run(TaskRunner.kt:65)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1133)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-38-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

DefaultDispatcher-worker-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:324)
at

kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.park(CoroutineScheduler.kt:794)
at

kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.tryPark(CoroutineScheduler.kt:739)
at

kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.runWorker(CoroutineScheduler.kt:71
0)

at kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.run(CoroutineScheduler.kt)

CleanupReference:
at java.lang.Object.wait(Object.java)
at java.lang.Object.wait(Object.java:407)
at java.lang.ref.ReferenceQueue.remove(ReferenceQueue.java:188)
at java.lang.ref.ReferenceQueue.remove(ReferenceQueue.java:209)
at org.chromium.android_webview.CleanupReference$1.run(CleanupReference.java:3)

glide-active-resources:
at java.lang.Object.wait(Object.java)
at java.lang.Object.wait(Object.java:407)
at java.lang.ref.ReferenceQueue.remove(ReferenceQueue.java:188)



at java.lang.ref.ReferenceQueue.remove(ReferenceQueue.java:209)
at

com.bumptech.glide.load.engine.ActiveResources.cleanReferenceQueue(ActiveResources.java
:128)

at com.bumptech.glide.load.engine.ActiveResources$2.run(ActiveResources.java)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1133)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at com.bumptech.glide.load.engine.ActiveResources$1$1.run(ActiveResources.java:43)
at java.lang.Thread.run(Thread.java:762)

Firebase-Messaging-Topics-Io:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at

com.google.android.gms.common.util.concurrent.zza.run(com.google.android.gms:play-services
-basement@@18.0.0:2)

at java.lang.Thread.run(Thread.java:762)

ADBLifecycleTimer:
at java.lang.Object.wait(Object.java)
at java.util.TimerThread.mainLoop(Timer.java:526)
at java.util.TimerThread.run(Timer.java:505)

pool-31-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)



at
java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-39-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

glide-source-thread-2:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.PriorityBlockingQueue.take(PriorityBlockingQueue.java:519)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)
at

com.bumptech.glide.load.engine.executor.GlideExecutor$DefaultThreadFactory$1.run(GlideExe
cutor.java:393)



AppUpdateService:
at android.os.MessageQueue.nativePollOnce(MessageQueue.java)
at android.os.MessageQueue.next(MessageQueue.java:323)
at android.os.Looper.loop(Looper.java:136)
at android.os.HandlerThread.run(HandlerThread.java:61)

NR_TaskQueue-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:201)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.awaitNanos(AbstractQ
ueuedSynchronizer.java:2077)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1103)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-24-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-29-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)



at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-40-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-32-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-45-thread-1:



at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

GoogleApiHandler:
at android.os.MessageQueue.nativePollOnce(MessageQueue.java)
at android.os.MessageQueue.next(MessageQueue.java:323)
at android.os.Looper.loop(Looper.java:136)
at android.os.HandlerThread.run(HandlerThread.java:61)

of.z TaskRunner:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:201)
at

java.util.concurrent.SynchronousQueue$TransferStack.awaitFulfill(SynchronousQueue.java:432
)

at
java.util.concurrent.SynchronousQueue$TransferStack.transfer(SynchronousQueue.java:333)

at java.util.concurrent.SynchronousQueue.poll(SynchronousQueue.java:908)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1057)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

ConnectivityManager:
at android.os.MessageQueue.nativePollOnce(MessageQueue.java)
at android.os.MessageQueue.next(MessageQueue.java:323)
at android.os.Looper.loop(Looper.java:136)
at android.os.HandlerThread.run(HandlerThread.java:61)

pool-27-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)



at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-25-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-53-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-54-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)



at
java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

DefaultDispatcher-worker-2:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:324)
at

kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.park(CoroutineScheduler.kt:794)
at

kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.tryPark(CoroutineScheduler.kt:739)
at

kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.runWorker(CoroutineScheduler.kt:71
0)

at kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.run(CoroutineScheduler.kt)

pool-2-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-35-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)



at
java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

RxSchedulerPurge-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:201)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.awaitNanos(AbstractQ
ueuedSynchronizer.java:2077)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1103)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-28-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)



at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

FinalizerWatchdogDaemon:
at java.lang.Thread.sleep(Thread.java)
at java.lang.Thread.sleep(Thread.java:371)
at java.lang.Thread.sleep(Thread.java:313)
at java.lang.Daemons$FinalizerWatchdogDaemon.sleepFor(Daemons.java:314)
at java.lang.Daemons$FinalizerWatchdogDaemon.waitForFinalization(Daemons.java:336)
at java.lang.Daemons$FinalizerWatchdogDaemon.run(Daemons.java:253)
at java.lang.Thread.run(Thread.java:762)

pool-41-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

glide-source-thread-3:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.PriorityBlockingQueue.take(PriorityBlockingQueue.java:519)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)



at
com.bumptech.glide.load.engine.executor.GlideExecutor$DefaultThreadFactory$1.run(GlideExe
cutor.java:393)

glide-source-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.PriorityBlockingQueue.take(PriorityBlockingQueue.java:519)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)
at

com.bumptech.glide.load.engine.executor.GlideExecutor$DefaultThreadFactory$1.run(GlideExe
cutor.java:393)

RxCachedWorkerPoolEvictor-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:201)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.awaitNanos(AbstractQ
ueuedSynchronizer.java:2077)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1103)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

HeapTaskDaemon:
at dalvik.system.VMRuntime.runHeapTasks(VMRuntime.java)
at java.lang.Daemons$HeapTaskDaemon.run(Daemons.java:433)
at java.lang.Thread.run(Thread.java:762)



GoogleApiHandler:
at android.os.MessageQueue.nativePollOnce(MessageQueue.java)
at android.os.MessageQueue.next(MessageQueue.java:323)
at android.os.Looper.loop(Looper.java:136)
at android.os.HandlerThread.run(HandlerThread.java:61)

ReferenceQueueDaemon:
at java.lang.Object.wait(Object.java)
at java.lang.Daemons$ReferenceQueueDaemon.run(Daemons.java:150)
at java.lang.Thread.run(Thread.java:762)

DefaultDispatcher-worker-3:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:324)
at

kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.park(CoroutineScheduler.kt:794)
at

kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.tryPark(CoroutineScheduler.kt:739)
at

kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.runWorker(CoroutineScheduler.kt:71
0)

at kotlinx.coroutines.scheduling.CoroutineScheduler$Worker.run(CoroutineScheduler.kt)

of.z TaskRunner:
at java.lang.Object.wait(Object.java)
at

okhttp3.internal.concurrent.TaskRunner$RealBackend.coordinatorWait(TaskRunner.kt:294)
at okhttp3.internal.concurrent.TaskRunner.awaitTaskToRun(TaskRunner.kt:218)
at okhttp3.internal.concurrent.TaskRunner$runnable$1.run(TaskRunner.kt:59)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1133)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-20-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)



at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

Chrome_ProcessLauncherThread:
at android.os.MessageQueue.nativePollOnce(MessageQueue.java)
at android.os.MessageQueue.next(MessageQueue.java:323)
at android.os.Looper.loop(Looper.java:136)
at android.os.HandlerThread.run(HandlerThread.java:61)

NR_UiBackgroundListener-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

Appboy-User-Dependency-Thread #1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)



pool-51-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

of.z TaskRunner:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:201)
at

java.util.concurrent.SynchronousQueue$TransferStack.awaitFulfill(SynchronousQueue.java:432
)

at
java.util.concurrent.SynchronousQueue$TransferStack.transfer(SynchronousQueue.java:333)

at java.util.concurrent.SynchronousQueue.poll(SynchronousQueue.java:908)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1057)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-26-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)



pool-22-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

NR_Sampler-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

of.z TaskRunner:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:201)
at

java.util.concurrent.SynchronousQueue$TransferStack.awaitFulfill(SynchronousQueue.java:432
)

at
java.util.concurrent.SynchronousQueue$TransferStack.transfer(SynchronousQueue.java:333)



at java.util.concurrent.SynchronousQueue.poll(SynchronousQueue.java:908)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1057)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

GmsDynamite:
at java.lang.Object.wait(Object.java)
at

com.google.android.gms.dynamite.zza.run(com.google.android.gms:play-services-basement@
@18.0.0:2)

Okio Watchdog:
at java.lang.Object.wait(Object.java)
at com.android.okhttp.okio.AsyncTimeout.awaitTimeout(AsyncTimeout.java:311)
at com.android.okhttp.okio.AsyncTimeout.-wrap0(AsyncTimeout.java)
at com.android.okhttp.okio.AsyncTimeout$Watchdog.run(AsyncTimeout.java:286)

pool-64-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-36-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)



at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

NR_AppStateMon-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

com.google.firebase.crashlytics.startup1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at

com.google.firebase.crashlytics.internal.common.ExecutorUtils$1$1.onRun(ExecutorUtils.java)
at

com.google.firebase.crashlytics.internal.common.BackgroundPriorityRunnable.run(Background
PriorityRunnable.java:27)

at java.lang.Thread.run(Thread.java:762)

u0 #1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)



at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-50-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

Crashlytics Exception Handler1:
at dalvik.system.VMStack.getThreadStackTrace(VMStack.java)
at java.lang.Thread.getStackTrace(Thread.java:1567)
at java.lang.Thread.getAllStackTraces(Thread.java:1617)
at

com.google.firebase.crashlytics.internal.common.CrashlyticsReportDataCapture.populateThrea
dsList(CrashlyticsReportDataCapture.java:295)

at
com.google.firebase.crashlytics.internal.common.CrashlyticsReportDataCapture.populateExecu
tionData(CrashlyticsReportDataCapture.java:266)

at
com.google.firebase.crashlytics.internal.common.CrashlyticsReportDataCapture.populateEvent
ApplicationData(CrashlyticsReportDataCapture.java:216)

at
com.google.firebase.crashlytics.internal.common.CrashlyticsReportDataCapture.captureEventD
ata(CrashlyticsReportDataCapture.java:102)

at
com.google.firebase.crashlytics.internal.common.SessionReportingCoordinator.persistEvent(Se
ssionReportingCoordinator.java:266)



at
com.google.firebase.crashlytics.internal.common.SessionReportingCoordinator.persistFatalEve
nt(SessionReportingCoordinator.java:126)

at
com.google.firebase.crashlytics.internal.common.CrashlyticsController$2.call(CrashlyticsControl
ler.java:192)

at
com.google.firebase.crashlytics.internal.common.CrashlyticsController$2.call(CrashlyticsControl
ler.java:177)

at
com.google.firebase.crashlytics.internal.common.CrashlyticsBackgroundWorker$3.then(Crashly
ticsBackgroundWorker.java)

at
com.google.android.gms.tasks.zze.run(com.google.android.gms:play-services-tasks@@18.0.1:
1)

at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1133)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at

com.google.firebase.crashlytics.internal.common.ExecutorUtils$1$1.onRun(ExecutorUtils.java)
at

com.google.firebase.crashlytics.internal.common.BackgroundPriorityRunnable.run(Background
PriorityRunnable.java:27)

at java.lang.Thread.run(Thread.java:762)

OkHttp ConnectionPool:
at java.lang.Object.wait(Object.java)
at com.android.okhttp.ConnectionPool.performCleanup(ConnectionPool.java:319)
at

com.android.okhttp.ConnectionPool.runCleanupUntilPoolIsEmpty(ConnectionPool.java:256)
at com.android.okhttp.ConnectionPool.-wrap0(ConnectionPool.java)
at com.android.okhttp.ConnectionPool$1.run(ConnectionPool.java:102)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1133)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

NR_Harvester-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:201)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.awaitNanos(AbstractQ
ueuedSynchronizer.java:2077)



at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1103)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

RxComputationThreadPool-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.parkNanos(LockSupport.java:201)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.awaitNanos(AbstractQ
ueuedSynchronizer.java:2077)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1103)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

GAC_Executor[0]:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at com.google.android.gms.internal.ef.run()
at java.lang.Thread.run(Thread.java:762)



Appboy-External-Event-Manager-Thread #2:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

glide-disk-cache-thread-0:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.PriorityBlockingQueue.take(PriorityBlockingQueue.java:519)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)
at

com.bumptech.glide.load.engine.executor.GlideExecutor$DefaultThreadFactory$1.run(GlideExe
cutor.java:393)

pool-52-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)



at java.lang.Thread.run(Thread.java:762)

glide-source-thread-0:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.PriorityBlockingQueue.take(PriorityBlockingQueue.java:519)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)
at

com.bumptech.glide.load.engine.executor.GlideExecutor$DefaultThreadFactory$1.run(GlideExe
cutor.java:393)

u0 #2:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-30-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)



at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

FrameMetricsAggregator:
at android.os.MessageQueue.nativePollOnce(MessageQueue.java)
at android.os.MessageQueue.next(MessageQueue.java:323)
at android.os.Looper.loop(Looper.java:136)
at android.os.HandlerThread.run(HandlerThread.java:61)

of.z resources.kayosports.com.au:
at com.android.org.conscrypt.NativeCrypto.SSL_read(NativeCrypto.java)
at

com.android.org.conscrypt.OpenSSLSocketImpl$SSLInputStream.read(OpenSSLSocketImpl.ja
va:789)

at okio.InputStreamSource.read(JvmOkio.kt:94)
at okio.AsyncTimeout$source$1.read(AsyncTimeout.kt:125)
at okio.RealBufferedSource.request(RealBufferedSource.kt:206)
at okio.RealBufferedSource.require(RealBufferedSource.kt)
at okhttp3.internal.http2.Http2Reader.nextFrame(Http2Reader.kt:89)
at okhttp3.internal.http2.Http2Connection$ReaderRunnable.invoke(Http2Connection.kt:618)
at okhttp3.internal.http2.Http2Connection$ReaderRunnable.invoke(Http2Connection.kt)
at okhttp3.internal.concurrent.TaskQueue$execute$1.runOnce(TaskQueue.kt)
at okhttp3.internal.concurrent.TaskRunner.runTask(TaskRunner.kt:116)
at okhttp3.internal.concurrent.TaskRunner.access$runTask(TaskRunner.kt)
at okhttp3.internal.concurrent.TaskRunner$runnable$1.run(TaskRunner.kt:65)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1133)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-33-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

Appboy-External-Event-Manager-Thread #1:



at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-37-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-42-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)



at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

GAC_Executor[1]:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at com.google.android.gms.internal.ef.run()
at java.lang.Thread.run(Thread.java:762)

pool-44-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

pool-10-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)



at
java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

awaitEvenIfOnMainThread task continuation executor1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at

com.google.firebase.crashlytics.internal.common.ExecutorUtils$1$1.onRun(ExecutorUtils.java)
at

com.google.firebase.crashlytics.internal.common.BackgroundPriorityRunnable.run(Background
PriorityRunnable.java:27)

at java.lang.Thread.run(Thread.java:762)

FinalizerDaemon:
at java.lang.Object.wait(Object.java)
at java.lang.Object.wait(Object.java:407)
at java.lang.ref.ReferenceQueue.remove(ReferenceQueue.java:188)
at java.lang.ref.ReferenceQueue.remove(ReferenceQueue.java:209)
at java.lang.Daemons$FinalizerDaemon.run(Daemons.java:204)
at java.lang.Thread.run(Thread.java:762)

pool-21-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)



at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)

Firebase-Messaging-Init:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1091)

at
java.util.concurrent.ScheduledThreadPoolExecutor$DelayedWorkQueue.take(ScheduledThread
PoolExecutor.java:1084)

at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at

com.google.android.gms.common.util.concurrent.zza.run(com.google.android.gms:play-services
-basement@@18.0.0:2)

at java.lang.Thread.run(Thread.java:762)

pool-23-thread-1:
at java.lang.Object.wait(Object.java)
at java.lang.Thread.parkFor$(Thread.java:2128)
at sun.misc.Unsafe.park(Unsafe.java:325)
at java.util.concurrent.locks.LockSupport.park(LockSupport.java:161)
at

java.util.concurrent.locks.AbstractQueuedSynchronizer$ConditionObject.await(AbstractQueued
Synchronizer.java:2035)

at java.util.concurrent.LinkedBlockingQueue.take(LinkedBlockingQueue.java:413)
at java.util.concurrent.ThreadPoolExecutor.getTask(ThreadPoolExecutor.java:1058)
at java.util.concurrent.ThreadPoolExecutor.runWorker(ThreadPoolExecutor.java:1118)
at java.util.concurrent.ThreadPoolExecutor$Worker.run(ThreadPoolExecutor.java:607)
at java.lang.Thread.run(Thread.java:762)


